Adaptiertes (QCIELAB ( C*,p 5 L*) und relativesCIELAB ( C*japr, * jap+)
System: B_IRS10_Z46N_NO Flape = (L* =% )/ Cw -L*n)

C*lap+ =C*ab.a/ C*abam
M = Maximalfarbe

CIELAB-Bunttonwinkel:
Nap = 36, 93, 155, 244, 308, 359] 1,
- lab

NG
J ajap» = C*japs €OS by
b*aps = C*jap+ SN hap

relative Buntheit a* g+




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, I* jap+)
System: B_IRS14_Z47N_N4 Frage = (L% ~L* )/ L LAy )

C*lap+ =C*ab.a/ C*abam
M = Maximalfarbe

CIELAB-Bunttonwinkel:
Nap, = 38, 94, 158, 240, 296, 358] 1,
- lab

At
J ajap» = C*japs €OS by
b*aps = C*jap+ SN hap

relative Buntheit a* g+




Adaptiertes (QCIELAB ( C*,p, 5 L*) und relativesCIELAB ( C*japr, I* jap+)

System: B_IRS25_Z48N_N5_VT092 Ml = (L% =% )/ Cw -L*n)
C*lap+ =C*ab.a/ C*abam

M = Maximalfarbe

CIELAB-Bunttonwinkel:
hap g = [40, 96, 156, 235, 297, 353] b*

lab*
Y

ajap» = C*japs €OS by
b*aps = C*jap+ SN hap

relative Buntheit a* g+




Adaptiertes (2)CIELAB ( C*yp, 5 L*) und relativesCIELAB ( C*jap+, I* jap+)
System: B_IRS14_Z48N_N5_VT100 |+ = (1% —|* )/ (Lruy-L*
ab = ( N Cw-Ly)

C*lap+ =C*ab.a/ C*abam
M = Maximalfarbe

CIELAB-Bunttonwinkel:
Nap, = 38, 94, 158, 240, 296, 358] 1,
- lab

it
A ajap» = C*japs €OS by
b*aps = C*jap+ SN hap

relative Buntheit a* g+




Adaptiertes (QCIELAB ( C*,p, o L*) und relativesCIELAB ( C*japr, * jap+)
System: B_IRS23_Z48F_N5_VT092 * = (L* —L*y )/ (L - L*
ab = ( N/ Ew-LN)

C*lap+ =C*ab.a/ C*abam

CIELAB-Bunttonwinkel:
M = Maximalfarbe

Nap, = [40, 95, 158, 237, 296, 357] s
- lab*

Y
a¥jgpr = Cjaps COS
b*jap+ = Cjap Sin hap

relative Buntheit a* g+




